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MATH 150 - WEEK-IN-REVIEW 12

SANA KAZEMI

FINAL EXAM REVIEW

1. Determine whether the Law of Sines or the Law of Cosines is needed to solve the triangle, then
(if possible), solve the triangle.

/4B =17°, ZC = 150° and ¢ = 65.
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2. Determine whether the Law of Sines or Law of Cosines is needed to solve the triangle, then (if
possible), solve the triangle.

LA=32°, a=42b=12.4
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3. Determine whether the Law of Sines or Law of Cosines is needed to solve the triangle, then (if
possible), solve the triangle.

a=10,b=12,c=16
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4. Determine whether the Law of Sines or Law of Cosines is needed to solve the triangle, then (if
possible), solve the triangle.

a=13,b=15, LA =53
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D. Flnd the component form, magnitude and directional angle of U = — U — /30, where ¥ =
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6. Find the component form of o given its magnitude and the angle it makes with the positive

ZT-axis.
|7 =3, 6 = 225° .
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7. Find 7 @ ¥ and (W @ ¥) 7 for @ = (2,4) and ¥ = (—6,2).
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8. Find the angle between @ and ¥ for @ = (2,4) and ¥ = (—6,2).
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10. Solve the following.
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11. Write the equation of the line perpendicular to 3x — 4y = 8 and having the same y-intercept as
y =or — 1. ~T
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12. Given the equation g(r) = —22?+4x+9, Identify the vertex, axis of symmetry, write the equation
in vertex form and find the z-intercepts.
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13. Consider the function g(z) = —(2z — 4)® + 5. Describe the transformations from f(x) = z* to
9(@).
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14. Find domain of the function f(z) =e
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15. Solve the following equation logg(x — 12) — logg(x) = logg(z — 6) .
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16. Solve the equation 72””+5 =4l
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o . (2 + 1)
17. Expand the logarithmic expression logg W
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19. Determine the domain, vertical asymptote(s), horizontal asymptote(s), hole(s) and intercepts of
) 8x2 — 122 + 4
the equation g(z) =

(z—1)(z +3)

. State the end behavior, then sketch the graph.
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20. Given f(x) = P

1
, g(x) = Pt find (f o g)(x) its domains.
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21. Given three equations f(z) =5 —z+1, g(z) = €** — 1 and h(z) = logs(x + 2). Find domain of

the function S(z) = f(x;)g(x)

21 ( . Then sketch f, g and h separately.
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y'=—4

2
: . x® —
22. Solve the following system of equations. { 27 — 0 g =z (¥

sustﬁH‘?on . o C Zg\z - -u
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23. Simplify the expression 4sin(z) COS@) - .= |
2 cos(x) cos(2x) — 2sin(x) sin(2x)
2Cos (% +2%)
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24. Complete the identity

2 2
Stcox) -\ sec(x) +1 sec(z)—1 o
¢ *
secta - sec () \
2(8&&&\_\3 . zk%eccx)«»l) ZS&CK I - 254X _ 2
LSech‘)z\) ( Sty ) ) 5662)( B
T
- AQ _— = & Co‘\((,'ﬁ‘)
SC(Z’x -\ Jl'mnzﬁ
25. Given t corresponds to the point (—2, g) on a circle, find the value of sin(t) — sec(t).
\ T 2 5
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26. Find all solutions to csc(3z) — sin(3z) = 0 then list the answers on the interval [0, 27).

Ll
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1
27. Find solutions to sin(2z) + ' sin(x) = 0 on the interval [0, 27).

L5 (RIGS(N) LSk =0
%

Sin(x) (2@%7\ . \% >:°

Y ~a
~Xo= 2 GSU\ = M
20
K=K K= owc s (. L\ TZT\K
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o et L |
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K_/ \(\J i
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28. Evaluate each of the following:

vnfmn( ) =5l B )G

(b) 4arctan (cot (~2)) e R ,% 5 _ L*( - 3: -2

(c) tan(arcsin(%§>>+2 _ fon Kb§> N/ A :g
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29. Simplify the following composition, then state its domain.

tan (arccos (2x)) = '[TM/\( Q \ = \1 | —fxe

0 X
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4 b [
= 75_ - LA +K7—\
o 2
P %1_\_K7T -—‘T> )(:L_LE Lk
4 b 2

31. Emmy chooses a horse that is 10 feet from the center of a merry-go-round. The merry-go-round

makes g rotations per minute. Determine Emmy’s angular and linear velocity in radians per
second.

1 feﬁowb“ Qor fo%}*‘bv\() = 27 «/NJJMS

ya’b’-‘ﬁ‘nh X 7N Y’Dd‘“'\s

= i oXokion
L W 6=z ™ 000 T
M&W V@[ocﬂ% £ (0 seconds [ win
Per SCCOV\.)\
N 7m ‘ﬁ'i T ‘.“_W\ _ IN ywk\/s
™min 60 ser - w ec -
AR todh [sc

\IJ:YUJ Z\D %%T‘ \%K
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32. If you deposit $2000 in an account with an annual interest rate of 3%, compounded C(MQS_IX.
Find the time it takes for the investment of $2000 to grow to $2500.

ACt)

A — gt
ok

9bob = 2000 €
ooat
€ _ 25 _ B
99 4

IV\K 5/4 3 Y o0 “VLQ5)_IV\LL9
— = ?D

0.0

st () t-=

33. Find domain and range of 5 csc(2x — §> + 3.

5 \ N
| -
Sm(Zx 33

X e T K0
: ko Nk =5
Dein 3 24 -5 F 1 => Qx#zx“ > [ ¢

Tl

6 z

e Knews csc(9) > ) oy CsC (o) < =)

R BCSCCB\%%>/5U) ¢3=% or CSgC(&) < SLH\B £33 =—2
MG %

(20 2 JU[ 9, x)
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1 2
34. Given y = 5sin n

gx - =) - 4, state the period and give an interval including the fundamental
cycle of your function. Sketch the graph.

A=

PRI (- x=bn (ke SH)
377 5 5 <

&

Ood 27 _ X D -~ bae lne
|
3

(\fM@lstvﬂ)
S%N\"L O + é_ﬁ, = éﬂ
5} 5 kffj Roinls -
ed: 6n +66£ = S_éﬂ . 5 sin(ix-28) 4
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35. For 21 =24 3i and 20 =4 — i, find 21 + 29,21 — 29, 21 - 2.
T - LBk

-%2: L\‘,\ %k+%2/: (D—\—Z/‘:

\

@ (2+3i)4-4)

2
= % F-Z}--y\ZI\' —~ D

%.\C\DI{,\.b = “*\OA)

Z»F& ;_2+L\,A-
2

n

Note: These problems are just a sample and should not be your sole source of studying. For
additional practice, refer to your lecture notes, homework and previous Week-in-Reviews. You
can also find other problems in your textbook.
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